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16U/101/15 Set No. 1

No. of Questions /%=t & @& : 150
Time /@Wd : 2% Hours/qw@ Full Marks/quits : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for cach incorrect answer. Zero mark will be

awarded for each unattempted question.

{2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

Hﬁm&mﬁm@aﬁaﬁtaﬁw%ﬁwm

1. The total number of Stock Exchanges in India js

IRd # A @Y faulel i de 3

(1) 20 @) 21 (3) 22
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4.

On dissolution of a firm, all the assets are transferred to Realisation Account at
their

(1) written value
(2) market value
(3) book value

(4) cost or market valuc whichever is less

o ¥ g @, wh R g @R i et @ g

(l) Hiha qed W (2) I T W

(3) J&™ I W (@) T s wm ge S of #W R

SEBI was established in

¥ B e 7 g R
(1) 1988 (2) 1998 (3) 1992 (4) 2002
In India NIFTY and SENSEX are calculated on the basis of

(1) market capitalisation (2) paid-up capital



S. The financial instrument with shortest maturity period is
(1) call money (2) certificate of deposit
{3) commercial bill (4) treasury bill

v F o Y aen e sy B-a 2

(1) =f1 gz (2) 5 WO-13  (3) IR B (4) T R
6. Commercial banks or Development banks issue this document

(1) commercial bill (2) treasury bill

(3) certificate of deposit _ (4) commercial paper

A § a o §% A-m e =@ §2
(1) afbfee o@ (2) o fam (3) sm ooy (4) R o
7. When shares are issued at premium, premium amount may be utilized for

(1) issue of bonus shares (2) payment of dividend
(3) payment of operating €xpenses (4) redemption of debentures

mﬁﬁmﬁmﬁfﬁamm,wﬁﬁvﬁvwmﬁmmmf}
(1) A 3v F fafm ¥ (2) i g ¥
(3) TRETEH 2l & o gy (4;mqa’i%ﬁq’rawgg

8. Which one of the following is not the objcctivcs of SPR{ >

(1) Protection to the investors
(2) Control over brukese

(3) Protection to the i"dusmalists
(4) Checking the insider traling

il

(P_ T. 0.}



e & @ S=-= Tt = ww TE R7?

(1) Fawi 1 g (2) cemet
(3) FEfea 6 g (4) =i 3fEn A A
9. Which one of the following is not a part of capital market?
(1) Gilt-edged market (2) Commercial paper market
(3) New issue market (4) Secondary capital market

Arafufa § @ #A-a1 goi SO F A T 7
I(1)9rwﬁwﬁ‘n‘w (2) TR T3 TR
(3) T frfr A (4) focftaeh sft AT

10. Which one of the following is not a function of the new issue market?

(1) Origination of securities (2) Underwriting of securities

(3) Distribution of securities (4) Administration of securities

, Fd 78?7
Wﬁﬂmmﬁﬁiﬁwa
(o) shoifedt 0 S
(4) wfengfodi sl S

secuﬂﬁﬁs on the Stock Exchanges does not help the company in

A‘lﬂ-g [llﬂds
e “dewﬁﬁng costs

/ e marke of securities

¢ing the ﬂnc{ness of securities

4



12.

13.

(171)

ey faufr ¥ sl & g 3wk e i @ Pl B wewe T€ R
(1) F¥ H sgH d

(2) s =3 B w1 w=

(3) shoqfedt & s A forega w #

(4) il i gggw H yemif 2§

The most important function of a Stock Exchange is to
(1) safeguard the interest of investors

(2) help in the capital formation in the country

(38) provides facilities for speculation

(4) provide a ready market for all securities

ey foufon 1 gatfes meaql w9 R

(1) Fewet 6t Ra &t wn w0

(2) & & St BAl0r § weRmn

(3) Wearsft & forw gfven wem wen

(4) ®f sfofedi & fau dm w3

Which one of the following is not a party of depository system»

(1) The Depository Participant (2) The Investor
(3) The Broker' (4) The Issuing ngpany
fFrfafgd # 8 3R R0 <oy 31 garmr 6 22
(1) feaifoett wiéhnia PRccric
5
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14. Which one of the following is not a method of floating new issues in the ‘Primary

Market’?
(1) Public issue by Prospectus (2) Offer for sale
(3) Making the contract (4) Private placement
fefafs § @ F9-w ‘Mufe aw # ¢ frfm ¥ yada # fafa 7@ 27
(1) Y g Asie e (2) fawa & foR y=ma
(3) T e (4) Felt @R
15. In which market, old shares are purchased and sold?
(1) Capital Market (2) Primary Market
(3) Secondary Market (4) Money Market

g i T o A wR e A 27
(1) gsht TR (z)mﬁﬁwms]ﬁmaﬁm (4) & TN

16 Financial Statement Analysis does not include
(2) Fund Flow Analysis

(4) Income Statement

(3
%w () Y TR forretwn
m;gﬂw ) I T
(3)
6



17. Calculate operating profit ratio when net sales are ¥ 20,00,000, gross profit is 20
percent and operating expenses ¥ 40,000

(1) 14 percent  (2) 20 percent (3) 18 percent (4) 16 percent

gfETe @ S i o AR Sw g B © 20,00,000, TEE @™ 20% du
TREeH =9 40,000

(1) 14 Yfawa (2) 20 gfewma (3) 18 widwra (4) 16 ¥faw@

18. Claim not yet acknowledged as debt against the company, is called

(1) current liability (2) contingent liability

(3) provisions (4) reserve and surplus

A0 S apfi o FA F U T F AR W A R, wEem ¥

(1) =1 afea (2) 8w=a TR (3) wrEum (4) ¥ @ afay
19. Sale of fixed assets is to be shown under the head

(1) operating activities (2) financing activities

(3) invcsting aCtiVitiCS (4) any Othel' actiVitiCS

wE wfy A fh e MeE F aea e w2

(1) Rared fafafy (2) fasta wfefafy

(3) Fram wiafafy (4) s Ry
20. The expenses related w e majn opcrations.of the busin

| S8 ar

1) selling expenses 9) adrinistrati

(1) (2) a strative chCHSeS

3) operating expenses (4) nop-adminigtpas:

( 'Strative Cxpenses
(171) 7
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21.

22.

(171)

FE F g GEOeH 8§ TEfa U9 FEdn 8

(1) fosht == 2) ymEtE =

(3) weeR = (4) R-wwmafiE ==

A Financial Statement that shows both rupees and percentages in the report is
referred to as

(1) a Common Size Statement

(2) a Relative Statement of Equity

(9) a Dalancc Sheol

(4) a Proportional Financial Statement
@mﬁmﬁwﬁmﬁwuﬁmﬁﬁmﬁm%,m%@
(1) amr R (2) Sua 1 ARg faaw

(3) anfd= g (4) SR faera fmcr

Net Working Capital is
(1) current liabilities less current assets
(2) marketable securities and cash

(3) the excess of current assets over current liabilities

(4) total assets less current assets

g FEUE {sh 2
() e e — LT



23.

24.

25.

26.

(171)

While preparing Cash Flow Statement, ‘cash and cash equivalents’ consist of
assets which can be converted into cash within

(1) 2 months (2) 4 months (3) 3 months (4) 6 months

T AR famwr fnle ¥ e @ e g’ A awhel € @ T § Bo
saty & gfafda it s wah 27

(1) 2 78 2 4 T (3) 3 WER (4) 6 TER

The ratio which provide information regarding the long-run operation of the
business is

(1) activity (2) solvency (3) profitability  (4) liquidity
mm%ﬁdmeﬂqqﬁamﬁmﬁamﬁnwémﬁ%
(1) wfafafy (2) Wq-&wa (3) EERIHaT (4) T
Amount set aside to meet the losses due to bad debt is a

(1) provision (2) reserve (3) liability (4) fund
T W F i F R s areh oy 2

(1) R (2) g @) afE (@) w

The cost of goods sold is ¥ 10,00,000, Opening stocks % 80,000, Closing stock
¥ 1,20,000. Calculate inventory turnover ratio

(1) 40 times (2) 10 times (3) 30 times (4) 20 times

f% @ owme # @ ¢ 10,00,000, T wha < 80,000, fRW wfiry
€ 1,20,000. @4 m&d o 4 o AR

(1) 40 T (2) 10 T (3) 30 T (4) 20 T

(P.T.0,)



27. Accrued incomes are shown under
(1) inventories (2) investment

(3) other current assets (4) current investment
Iy o femrd st 2

(1) =g | (2 fam .

(3) = =] iRl (4) =iq faw

28. Discount on issue of shares and debentures is

(1) fictitious assets (2) current assets

(3) current liabilitics (4) miscellaneous expenditures
it 7wl @ FoEl W HAA R

(1) sAEd wwafeEt (2) =Te] @t

(3) =1, qIca (4) T ==

29. In Balance Sheet, assets are shown in the order of

(1) permanence (2) liquidity (3) market value (4) None of these
i foy i el fe w3 il Sl 2 |
(1) ot #H 8 (2) T FH A
(3) R g wA A @) ¥} F3 T
10

(171)



30. In a business, Cash sales are ¥ 7,20,000, Credit sales are ¥ 80,000, Cost of
goods sold is ¥ 6,00,000. Find Gross Profit Ratio

(1) 15 percent (2) 65 percent (3) 25 percent (4) 35 percent
T FEEE ¥ 99 fashl T 7,20,000, 3uR R T 80,000, ¥ W W H @FE
¥ 6,00,000 &, A HHA TV AU FA FiR

(1) 15 gfawa (2) 65 wfowma (3) 25 wawa (4) 35 wawa

31. Marginal utility is equal to
(1) total utility minus average utility
(2) addition to total utility
(3) total utility divided by the number of units consumed
(4) total utility plus average utility

dwra Swafi s B R

(1) & Iy — siga swfian

(2) F& Iwafien & gfy

(3) T ST WM TR B I B st
(4) o 3P + 3hwd IwNfEr

32. The second glass of water generally gi 1 ili i i
gives less utility to a thir
happen because of °% person. This

(1) law of diminishing marginal utility
(2) law of diminishing returns
(3) law of equi-margjnal utility

(4) law of demand

(171) 11
(P. To)



Wmﬂwﬁﬁaﬁ{mﬁmmwwﬁmm:wmﬁmmm%lﬁmﬁm
FROT Bl R? :

(1) saTTa I9Afiar g fam & SR
(2) wuva wiew s Frm % FRO

(3) gu-dra Ivafiar fam & &w
(4) "t & e & FE0

33. Demand curve for a Giffen Good will be
(1) horizontal ~ (2) vertical
(3) slopping downward to the right (4) slopping upward to the right
fiftha a%g & Wi a6 M
(1) &fest (2) ¥
(3) grff 3t firn g3 (4) TRl 3 I3 FA

34. A consumer is in equilibrium, when his budget line is

(1) above the indifference curve

(2) below the indifference curve

(3) tangent to the indifference curve

(4) cut the indifference curve
@mmmmﬁﬁm%wwﬁmm

(l)mﬁgmaﬁ% (2)maﬁé=ﬂ%iﬁ?ﬂ%

wd w6 R (4)?\3@139%3#!3@%

12



35.

36.

37.

(171)

A0V LUL/ 10 OCL INO. |

For an inferior good, income elasticity of demand is

(1) negative (2) positive (3) zero (4) infinity
& = ol B I & R, wln B o A e
(1) =RvITeHsh (2) gTcH®R (3) @ (4) =

Average product is maximum when

(1) marginal product is greater than the average product
(2) marginal product is less than the average product
(3) marginal product is equal to the average product

(4) marginal product is negative

e ITe Falfts dar @ wg

(1) ¥ Ier sitea 3earg @ s drn @

(2) W IR SME IR} W A @

(@) W= e shwd s F wwe B 2

(4) W1 3T e e 4

With increase in output, which cost increases continuously?

(1) Average cost (2) Margina] cost (3) Fixed cost
SR TR R TR
(1) 3hwd T (2) dv= (3) fer amm

(4) Variape cost

13
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38.

39.

Which of the following curves is not U-shaped?

(1) Average fixed cost curve (2) Average variable cost curve
(3) Average total cost curve (4) Marginal cost curve

A § 3 FR-T T U-TR & T € R

(1) 3fEd feR @ o (2) 3iwa aiEdTRid QU 9
(3) JMFd F& AP TH - (4) W @TTa T

The demand curve of a firm under a perfectly competitive market will be

(1) vertical (2) horizontal

(3) negatively slopped (4) positively slopped
7 yfErh aew § o W @ G 9 ' |

(1) e (2)- aRe

(3) FUTHS BIel Jrell (4) HHRIHS @Il drell

The concept of selling cost was propounded by

(1) Alfred Marshall (2) Edward Chamberlain

(3) Joan Robinson (4) A. C. Pigou

b P 1 e S T

maq@gmﬂﬂﬁm (2) TEEE JwRiH g
- , 0. Y0
(3 s T T il
14



41.

42.

43.

Ordinal measure of utility is required in
(1) Utility Analysis (2) Demand Curve Analysis
3) Indifference Curve Analysis (4) Revealed Preference Analysis

I % FH GE YHY i AEEEHdl B
(1) It faweo # (2) Af a% fadww §
(3) ey T fawaww i (4) T ARmE v §

Under monopolistic competition, a seller gains abnormal profit when

G S % Sla @ fawd F @WN @™ WIH g 2, 99
(1) MR = MC (2) AR = AC (3) AR > AC (4) AR < AC

According to Marshall, the law of diminishing retumé applies on

(1) agriculture (2) industry

(3) neither agriculture nor industry (4) agriculture and industry both
i ¥ AR, A B P w2

(1) R & (2) am §
(3) 7@ FN A& 3§ (4) F 3R s@m A §
44. According to Keynesian theory of employment, employment depends on
(1) aggregate demand (2) aggregate supply
(3) effective demand (4) quantity of mOney,
15

(171)
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45.

47.

(171)

& AR Rigra & oer, d9m fR w2

(1) ¥9& " | (2) o g W

(3) wTEIE® Him @ 4) gg1 A "E W

On which date the Rail Budget for 2016-17 was presented in Parliament?
(1) 25th February, 2016 (2) 27th February, 2016

(3) 28th February, 2016 (4) 29th February, 2016

frg fafy @ af 2016-17 #1 & s dog & T fon Y

(1) 25 wad, 2016 H (2) 27 ®&l, 2016

(3) 28 w@&EfR, 2016 = (4) 20 w@&EH, 2016 Fi

A sole proprietor decided to use the business bank account also for his personal
affairs. Which of the following accounting principles is violated?

(1) Going concern (2) Consistency

(3) Entity (4) Dual aspect
mmmﬁaﬁmwﬁﬂaﬁwﬁmwﬁ:ﬁmmﬁ%ﬁmﬁﬁw
3 2\ fra S fage # ST @ W@ RY

(1) 9T FEEE (2) TR (3) fea (4) feuse

If a trader’s sales amount to ¥ 18,000 and his gross profit and net profit are 60%
and 40% of sales respectively, then his expenses are

o =R @ A T 18,000 o Jueh wFE AN W @ T feR #1 waw
60% T 40% & T % = ]

(1) ¥ 7,200 (2) ©2,500 (3) 3,600 (4) T 2,600

16



48. Which one of the following is correct?

(1) Gross profit + Sales + Direct expenses + Purchases + Closing stock =
Opening stock

(2) Gross profit + Direct expenses + Purchases + Closing stock - Opening stock
= Sales

(3) Gross profit + Direct expenses + Purchases + Opening stock — Closing stock
= Sales

(4) Gross profit + Direct expenses + Purchases + Opening stock + Sales =
Closing stock

frafafaa & @ sF-w & ?7?

(1) &7 @™ + BT + JO8 =4 + $9 + A0 T = wwites whn
(2) TF OV + TOW I 4+ F9 + AW whm - P el = gy
(3) TH TN + TOH W + T + VROF TR — A @R = R
(4) T TN + TG T + 7 + IR T + R = R e

49. Outstanding expenses appearing in Trial Balance will be shown on
(1) Debit side of Profit & Loss Account

(2) Debit side of Trading Account
(3) Liabilities side of Balance Sheet
(4) Assets side of Balance Sheet

a9 | 9 ca =5 ewiar s
(1) am-gf @R ¥ M oy § ”’Wlﬁﬁﬂamzq“
(3) anfds fag & o= W 3 (4)3;%1%@%‘”%%&_

(171) 17
PTo0,)



S0.

51.

52.

53.

(171)

Goods of the value of T 500 withdrawn by the owner of the business for personal
use should be credited to

(1) Drawing A/c (2) Sales A/c (3) Owner’s A/c (4) Purchase A/c

FMR % =W R W % ST % T T 500 % e F A # AR d Feen
W #fee F wifee

(1) 3w @ (2) fosma @ (3) @rft = @@ (4) FE @

A and B are partners sharing profits and losses in the ratio of 3: 2. C is admitted
with 1 share in the profit. What will be the new profit-loss sharing ratio?
Amnvﬁﬁszﬁa@mﬁm—mﬁaﬁﬁilcmﬁ 1L ym & fom
HRGR FAET @ 2| SV-T Aed wOT I FEW?

(1) 3:2:3 (2) 6:4:5 (3) 6:4:3 (4) 3:2:5

In the event of death of a partncr, the accumulated profits and losses are shared
by the partners in their

(1) old profit sharing ratio (2) new profit sharing ratio

(3) capital ratio (4) equally

M@m?ﬁﬂﬁmﬁ mmwaﬁmmmm%aﬂa

(1) qER T e S (2) T @ foq s
(4) TE-F

Income & Expenditurc Account is a

(1) Real Account (2) Nominal Account

4| Statement
3) personal pccount @

18



54.

5§5.

56.

(171)

I IR T dE R
(1) 9w s (2) i @1 (3) wfeE a@  (4) feE

Under Annuity Method, the amount of depreciation

(1) fixed for all the years (2) increases every year
(3) decreases every year (4) None of these

afi af veh % srte g@ A o

(1) =t asf & g v Tom (2) sRed wgeh 2

(3) wfoad et 2 (4) = } A

X Co..Ltd. forfeited 20 shares of € 10 each on which € 5 per share were paid up.

The company issued these shares @ ¥ 8 as fully paid up. Amount transfer to
capital reserve will be

xm‘oﬁiotlowﬁlarézﬁaivﬁﬁﬁqmtsnﬁaimaam
W#Hahﬁﬂﬁtaﬂﬁfﬁﬂﬁﬁﬂﬂﬁﬁwﬁﬁffﬁ:‘:?:mﬁz;
s A fweft oft geaRa gef e :

(1) T 40 (@ ¥ &0 (3) T 20 4) T 100

All adjustment entries in Final A/cs are written at two Places
(1) Trading Account and Balance Sheet

(2) Profit & Loss Account ang Balance Sheet

(3) Trading Account and Profit & Loss Account

(4) Trading or Profit & Loss Account and ‘Balance Sheet

19
(F.T.0)



mmﬁﬁﬁmmmammm%
(1) OR @R a9 s g §

(2) AV-TH TR au sfde fay §

(@) =R @R 7 T-F wW A

(4) R @ A A-g @ aa et £ A

§7. Profit on cancellation of own debentures is transferred to

(1) General Reserve
(2} Capital Reserve
(3) Secret Reserve

(4) Profit & Loss Appropriation Account
o) FOGE % A WA g B S 2

(1) W E @) qoft E

@) T ¥ (@) - o

58. Interest on drawings 1S

an expenditure for business (2) a gain for the business

neither expenditure nor gain (4) expenditure and gain both

(3)

e WA ¢
(1) e & f @) W.%%qmﬁ@r
(3,mmaﬂﬂﬁmf“ @) o7 w i 3

20
(171)



62.

63. NABARD has beet

Monetary Standard refers to

(1) principal method of regulating the quantity of standard money
(2) principal method of regulating the exchange value of standard money

(3) principal method of regulating the quantity and the exchange value of
standard money

(4) principal mecthod of regulating the purchasing power of standard money

oA @ e 2

(1) s qg1 & w0 & Frama A ger gome
(g)m@mgm%ﬁmgwﬁﬁmﬁg@m
(3,gmﬁmga(aﬁlnmammﬁﬁwr§q%ﬁwaﬁg@m
(4)gmﬁmgmﬁmtﬁﬁ$ﬁumﬁg@m

established on the recommendation of

: 7) Tandon Committee
(1) Talwar Commitiee "

(3) Narasimha), ~
- o T éﬁﬁ:éﬁaﬁr wé?
3 T{{ﬁn:sq

ittee (4) Shivaraman Committee

(v .~ petWen value of m _
rc\aﬁonsmp 1 oney and geneal Price-leye] is
AT (2) indirect
difﬁct |
a andOnS (4) proporticl
'ﬁw’cr.y
(3) 22



59. Del Credere Commission is calculated on

(1) cash sales (2) credit sales

(3) total sales (4) credit sales reduced by cash sales
ufemty FHvA # T R 2

(1) T fFa w (2) 3R fawa W

(8) ¥ fomra w (4) 3R oz § } 7o T 0w

60. The use of FIFO method is suitable
(1) at rising prices (2) at faling prices
(3) at constant prices (4) at fluctuating priceg
o faft & W@ Sgw @ 2
(1) *a iy A Ry 3 (2)azaﬁﬁaﬁﬁi;ﬁﬁ
3) o fom 6t Frfy (4) TG o ) e

61. Actual money refere tq

(1) unit of currency (2) money of account
- e o B ~uve m0ney
mwgmﬁ | R (@ W Yt
I

21

(171) Fro,



62. Monetary Standard refers to

(1) principal method of regulating the quantity of standard money
(2) principal method of regulating the exchange value of standard money

(3) principal method of regulating the quantity and the exchange value of
standard money

(4) principal method of regulating the purchasing power of standard money

ZHA & Al #

(1) srfers qg1 Y W ¥ Fa i gEr o
(g,gmﬁmgmaaﬁﬁmgwaaﬁaﬂaﬁg@m
(3,mmgmﬁmmamm%f%ﬁw1m%ﬁmnﬁ5@m
(4)Wm3maﬁmrﬁﬁ%ﬁwmiﬁg@m

63. NABARD has beeh established on the recommendation of

i don Committee
(1) Talwar Commitie® (@) eas0 -

mhan committee (4) Shivaraman Committee

(3) Narasi
« Trae F@ﬁ wH w

ot B
> TR R (4) e iy

ﬁonshl‘p petWen value of money and geneg] Drice

leve] ;
The 1€ - vel 18
64- . (2) indirect
(1) &I ﬂ”donsl 4 :
(3) invers® (4) proporticl
22



65.

66.

(171)

57 % qed ol uw find 'R F A9 H S way @ aw R
(1) ¥ (2) e

(3) favlim smqwioss @y (4) FETATR

Which of the following is considered as the Economic Evil of Money?
{1) Encouragement to borrowing

(2) Encouragement to overcapitalisation

(3) Encouragement to materialism

(4) Encouragement to borrowing and overcapitalisation

Prffien & @ FR-a1 g 1 oR® Sy W w0 B7

(1) 3aW 9 h WredTEA

(2) Afa-ysiigm A Treared

(3) sitfaerarg M Sircares

(4) SUR 3o AU Hfa-Ysfimm 1 Wreame

Indian Rupee is

(1) standard money (2) token money
(3) standard token money (4) optional money
URAT &91
(1) S g1 @ _(2) W 3 R
(3) YIS HiFRE gm0 R B C) I R

23
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67.

68.

(171)

The prevalent name of Gold Currency Standard is

(1) Full Gold Standard (2) Gold Bullion Standard
(3) Gold Exchange Standard (4) Gold Parity Standard
@l e # Tafed am R

(1) Qi oA 2) o A

(3) =t fafrm =m (4) @ @¥a1 7E

According to transaction approach, which of the following factors determine the
general price level?

(1) Quantity of money in circulation, its velocity and the volume of trade
(2) Volume of credit instrument and its velocity

(3) Quantity of money in circulation, volume of credit instrument and volume of
trade

(4) (1) and (2) above

s Remam % ogER, Peffe d @ #-m we awe e feifa
T &7 | |

(1)ﬁmﬁ@ﬁm,.mﬁmnﬁmmaﬂqﬁﬁmaﬂaﬁmﬂﬁﬁw

(g)m-gaﬁqﬁi,ﬂﬁﬁ“ﬁ'

(B)Wﬁwﬁm’m.mﬁmmmﬁ@ﬁmﬁmg@%ﬁﬁm

(4) IR (1 @ (2
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69.

70.

71.

(171)

To reduce the inflationary gap
(1) the amount of tax should be increased
(2) production of goods and services should be increased

(3) (1) and (2) above should be adopted

(4) Dear Credit Policy should be adopted

Wi W B o) F R

(1) = K am § iy weh fe
(zlaqﬁ@#mﬁ%mﬁq&maﬁq
(3) IWH (1) 3 (2) A 3w wha

(4) "ot arg ffy sErh =fe.

Which of the following is an asset for a bank?

(1) Capital (2) Reserve Fund
(3) Loans and Advances (4) Bills Payable
h%ﬁqﬁﬁ%ﬁaﬁﬁm-ﬁmﬁi?

(1) §h (2) Ghm Ty

(3) e # HW qur Yy (4) 3 fam

Of all the assets of g bank, the most non-profitable asset jg

(1) buildings and furnitures (2) cash

(3) call money

25

(4) buildings furnity,,
’ °s ang cash
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%ﬁ@ﬂmﬁﬁﬁ'@mq%ﬁmmﬁg

(1) %M T HHIR (2) T2 A

(3) =T (@) e, AR T =

72. Dead Stock of a bank is
(1) office, buildings and furnitures  (2) moncy at call and short notice
(3) treasury bills | (4) commercial bills
w &% @1 g0 &4 ¢ |
(1) FrEiea, v ad FH (2) - T
(3) e fo (4) s fao

73. The issue of currency notes by the RBI is

(1) proportional Reserve System (2) Minimum Reserve System

(3) Fixed Reserve System (4) Maximum Reserve System

wmﬂaéﬂ%%ﬁzﬁlmﬁ%ﬁl%

(1)3@%#%% (2) = B TG
fffa P19 TG0 (@) e HY T

of the following is not a quantitative method of credit control?

74. Wwhich |
(1) Disco unt rate (2) Open market operations
i
v aﬁable reserve ratio (4) Credit rationing
3)

26
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7S.

76.

77.

78.

(171)

frefaflaa & @ - a/@ fgsm B ofemmes fafy & 22

(1) wXft R (2) @ 9R H frand

(3) TREdR FrurUE ' (4) Tr@ H qufim

Which of the following is used for International Monetary Transfer?

(1) RTGS (2) NEET (3) SWIFT (4) None of these
AP g1 TR F fore feem v a2

(1) 3MoHosftowmo (2) THoZoZoHto

(3) TWoS=Y oA oTHoHto (4) 38 & A3 7

If Raj sells an iron for T 400 gaining  of its CP, find the gain percent

q&m@ﬁm¥4ooﬁma,aﬁmmmmgmmé,m
gt A $ifor

(1) 20% (2) 50% (3) 25% (4) 75%

(1) 40% (2) 662% (3) 331%

What price should Ratan mark op g fan which costs him ¢ 3
20% after allowing a discount of 10% »

(1) T 5,000 (2) ©6,000 (3) ¥ 3,600

27



79. Ravi i
inigeirtl? Kgll'tl borrowed T '3,500 and T 4,000 respectively at the same rate of
or 21 years. If Karti paid ¥ 150 more than Ravi, find the rate of interest

(1) 12% p.a. (2) 14% p.a. 3) 11% p.-a.- (4) 10% p.a.
%ﬁnmﬁﬁm:t3,sooaﬁtt4,ooowwmazm2%aﬁ#ﬁmm
L af w3 T D T 150 o e R, s @ W A

(1) 12% ¥Red  (2) 14% e (3) 11% whad  (4) 10% St

80. A certain sum of money-a.mounté to 1,260 in 2 years and to ® 1,350 in S years.

Find the rate of interest

T g 2 a6 ° X 1,zeoam%aﬂtsaﬁﬁr1,3soam%imm
A #ifd
[1] 3‘50/0 (2) 2'5‘%) (3) 4% (4] 2%

81. Sudhir and Karim together can complete a work in 15 days. If Sudhir is three
times as good a workman as Karim, in how many days will Sudhir alone finish

the work?
(1) 10 days (2) 25 days (3) 20 days @) 15 days
gmmm@mﬁw 15ﬁ=!ﬁwwwﬁilaﬁ§aﬁwﬁaaaw
ﬁaﬂq%?ﬂﬂﬂaﬁﬁaﬁﬂﬁ,?ﬂgwmmﬁﬁmﬁﬁﬁﬁWﬁM?
(1) 10 f& 2) 25 e (3) 20 & @) 15 T

82. A 175 metres |ong train crosses a 185 metres long tunnel in 45 sec. Find speed
of the train 10 km/hr
& 1751ﬂ'&ﬁ3" 185 et w=h g A 45 % § T FG@ 21 3T A oA
2 km/br A T R
(1) 208 km/h (2) 288 km/hr (3) 182 km/hr  (4) 8 km/hr
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83.

8§.

an,

Simplify

& iR

5x+2_ 2x+5

4x-8 x2_-x-2

Sx+9 2x+5 2x+3 4 Sx+3
() 4x + 4 @) 4x-2 @) 2x+4 @ 4x -4
Simplify
T« fRR
4la-6{a-2(3a-3a+3)}

(1) 8a-122 (2) 28a+114 (3) -68a-144  (4) -38a-124

18 em. Find the area of the path

mmuﬁﬁuﬁ'@m 18cm%,ﬁiﬂlﬁﬂmﬂlﬁ3ﬂ'{3cmm
T T A R) T H AP W AR -

(1) 324 cm? (2) 476 cm?  (3) 188 cm? 4) 252 cm?

Determine the area of a triangle whose sidcs arc 5 cm, 13 CM and 19
cm

@aﬁamwsm,mmmmcmé,mmmm

(1) 36 cm? (2) 30 cm? (3) 42 cm? (4) 38 py2

29
(PT.0)



87. A j i
th‘éogper wire when bent in the form of a square encloses an area of 121 cm?”. i
ame wire is bent in the form of a circle, find the area of the circle

gﬁwmwaﬁ%wﬁﬁ@m%,m121cm2mm€ﬂm%|uﬁ
Hﬂﬂﬁ@aﬁ%mﬁn‘rgrm%,?ﬁqﬂmmmﬁﬁﬁ

2
(1) 154 cm (2) 134 cm? (3) 164 cm? (4) 124 cm®

88. Express as a positive power of three (3)

?ﬁﬂtslaﬁwmﬁqm%wﬁmaﬁr&a
(9"‘)><[27)'2
(81)" 2 x3°

L, 1 1 1
M = 2 2 G 5 R

89. A sum of money is divided among Dev and Deep in the ratio 5:13. If Deep’s

ghare is T 789, find the sum of money
@w@l&awaﬂﬁs:lsﬁwﬁﬁmﬁa%mw%wﬁaﬂw%w
t'rso%,‘chmrrﬁwmﬁﬁlﬁ

(2) % 1,260 (3) & 1,000 (4) T 1,080

(1) ¥ 1,140
take to do so?

15 men can repair a road in 28 days, how long will 35 men

90.
() 18 days (2 12 days @) 14 days (4 16 days
15ﬂﬁ5ﬁ®ﬂgﬁﬁtﬂ328ﬁqﬁﬂm%,uﬁm 35 wdl w8, a
e o TN
(1) 18 f () 12 f& (3) 14 feq @ 16 &7
30



91. In Windows Operating System, the type of file with the .mpeg extension

indicates
(1) audio (2) video (3) temporary (4} system
faee siqfen fyem & .mpeg extension @ ﬁwmaﬁwmm%?

(1) AfeH (2) fafsa (3) =i (4) faem

92. The quality of printer is measured by which unit?
ﬁawﬁmmmﬁmsméﬁmﬁam%?
(1) cpI (2) MPI (3) RTI (4) DPI

93. Which was the most popular first generation computer?
e 4 3 3 o v vm s FI 77

(1) IBM 1650 (2) IBM 360  (3) IBM 1130 (4) IBM 2700

94. Which will not harm a computer system?

(1) Firewall (2) Virus (3) Trojan Horse (4) Wormg
=l T el 9w THEM &l W gehar ?
(1) wrREE (2) Im (3) 5 wid 4) T8

95. Which type of printer ugeg ‘ribbon’ ?

(1) Laser Printer (2) Plotter

3) 'Inkjct Printer (4) Dot Matrix Printer

(171) 31
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frn o= ¥ R & ‘Rem’ @ WM B R7?

(1) a8t R
(3) Faoe B

(2) X

(4) Ske-Afgww

96. To join the Internet, the computer is connected to
(1) Internet Architecture Board (2) Internet Society

(3) Internet Service Provider (4) Cyber Police

iz A e W h R e B da R

(1) :qéz anfhear g

(3) =Tz afdn WaEe

97. CPU stands for

(1) Cool Processing Unit (2) Computer Processing Unit

(3) Central Processing Unit (4) Central Processing United

cpy 1 Tl R
mgag’lﬂﬁ"@
(3}WW@Z

() T S i
() e Safim e

98. DTP stands for
(2) Data Printing

(4) Desktop Publishing

(1) Data Publishing

(171) e



100.

101.

(171)

DTP %1 9™ el 2
(1) e fefim (2) s Rifen (3) ¥wm BRI (4) wwem wfefim

Which one of the following does general calculations for CPU ?

(1) ALU (2) Bus (3) DIMM (4) Control Unit
CPU % fd s mrm #f1 =@ 22
(1) ToTdoFo 2) =& (3) HoamoWowio (4) FHglad g
LAN stands for
(1) Local Area Network (2) Live Area Network
(3) Lost Area Network (4) Long Area Network
LAN # amm R
(1) St o ek (2) VT o e
(3) v o Yead (4) afg ofn Yo
Linux is a
(1) database (2) graphics
(3) operating system (4) animation software
T ?
(1) Srrew (2) g
(3) aArwfen Reen (4) TR Tigedm
33
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102.

108.

104.

105.

(171)

Which one is not an example of computer hardware?

(1) MS-Word (2) Mouse (3) Printer (4) Monitor
f 4 BN g Tam w1 IR T R7
(1] ToTHo-d8  (2) HIH (3) Br=x (4) A

To communicate live through Internet, which one is used?

(1) Talk (2) Chat (3) Email (4) FTP
mﬁmwmm%%ﬁmm%mm%?
(1) T (2) (3) ¥ (4) Thododto

Which of the following is an example of Bluetooth?

(1) Personal Area Network (2) Local Area Network

(3) Virtual Private Network (4) Wide Area Network

ﬁ&qﬁﬂﬁﬁmﬁm‘"%?

(1) T Yo o) < e e

() o T T @) s e e

Size of IPVG address is

[pv6 address 1 T ad 2

(1) 32 bits (2) 64 bits (3) 128 bits () 265 bits
34



106.

107.

108.

(171)

‘Theory of Exception’ was propounded by

(1) Henry Fayol (2) Theo Haiman
(3) F. W. Taylor (4) Herbinson and Mayers
‘Fvare w1 g’ % wfues 2

(1) 0 S (2) fr ¥

(3) Tho T&Yo W (4) e @ A

Selection of best option among available different options is called
(1) planning | (2) organisation

(3) decision making (4) controlling
Wﬁﬁaﬁﬂﬁéaﬁaﬂﬁmwwmmg

(1) Frm (2) " 3) fofem ) P

Which is the right sequence of management functions?

(1) Planning, Staffing, Organising, Directing, Motivating and Controlling
(2) Planning, Organising, Staffing, Motivating, Directing and Controlling
(3) Planning, Organising, Staffing, Directing, Motivating and Controlling
(4) Planning, Staffing, Organising, Motivating, Directing and Controlling
TETER R F W W A 27

(1) B, =fen, dnew, fdwm, sforor qor frisor

(2) P, W, =i, s, A qun A

(3) ﬂ'!ﬂiﬂ, W! RTﬁiTI, ﬁim, ﬂﬁmwﬁm

(4) e, wifn, e, s, Aty qu R

35
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109. Find the odd from the following
(1) speed boss | (2) repairs boss
(3) disciplinarian (4) inspector
frefafes # 3 fom | == A
(1) ¥ T () TE TEE  (3) g (4) Fre

110. ‘POSDCORB’ word is given by
(1) Henry Fayol (2) F. W. Taylor
(3) G. R. Terry (4) Urwick and Gulick

‘POSDCORB’ Wisg fean 2

(1) T8 A=A (2) Tho T&Fo T
(3) Sfto 3mo & (4) FFF w@ TR
111. Find the odd from the following
(1) wheél (2) probability  (3) cluster (4) gossip
frofifies § @ faww A WA HA
(1) dfean (2) @Il (3) T=B (4) ¥

highest form of Democratic Organisation from the following?

112. Which is the
(2) Line & Staff Organisation

(1) Line Organisation_
(3) Functional Organisation (4) Committee Organisation
36
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113.

114,

118.

(171)

frefefes & & F9-w vad e Awaifis weT 7 oIEw 27
(1) Y& ¥ (2)¥mam$ﬁa1ﬁﬁm
(3) forarers wiraw (4) wfifa dmaa

Find out the odd from the following
(1) Game Theory (2) Race Theory

(3) Queueing Theory (4) Decision-tree Theory

Prafeen 3 & fown ® v Bfa

W) & R 2 ds figm (3) i R (4) fla-ga g
When the subordinates are disciplined, experienced and qualified, which of the
following leadership styles will be more appropriate?

(1) Autocratic (2) Free-rein (3) Negative (4) Any style

mmw,m@mﬁ,mwm-aﬁmmm
ST gt ?

(1) Fgw (2) Fatard (3) o (4) H13 Wt A
Which of the following is ot an element of planning?
(1) Objective (2) Policy (3) Principle (4) Strategy
ﬁq&—r&aaﬁﬁm-mﬁmqmaawt?
(1) Rw (2) M (3) frgra (4) wrfy

37
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116. For selection on non-managerial posts, which of the following is useful?

(1) Patterned interview | (2) Depth interview

(3) Non-directive interview (4) Stress interview
-yore W@ & T ¥, PR § @ w-m s et e R
(1) SfawfAd TR (2) T IR

(3) fCRm weHT (4) Wie AR

117. A promoter of a business enterprise may be

(1) an individual (2) a firm

(3) a company (4) All of the above

T AEEIE ITH F S @ Fw

(1) @ =Afh (2) T P (3) T (4) Iww @
118. The Purchase Manager talking to Production Manager is a case of

(1) upward communication (2) downward communication

(3) diagonal communication (4) horizontal communication

F7 TEIE GO I ToUE § AW A T awen 2

(1) o FE (2) S F

(3) Tamfia & (4) A TR

119. Unity of command is violated under which of the following?

(1) Line Organisation (2) Line & Staff Organisation

(3) Functionﬂl Organisation (4) Project Organisation

38
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120.

121.

122.

(171)

frafafes & & feed orafa sy  wwar =1 sgwa a1 27

(1) Y@ g (2) Y@ a9 FHARK HHA

(3) Brareh wmew (4) TR |

The method through which railway engine drivers are trained is known as
(1) Sensitivity Training (2) Vestibule Training

(3) Role Playing Training (4) Virtual Training
%ﬁﬁﬁﬁmh&ﬁaﬁﬁmﬁmm%,@mm%

(1) a%amﬁam wi¥negor (2) gRUFIB Ffdreror

(3) P frafer wfem (4) Tora Wi

Which of the following is not an economic objective of business?
(I) Generation of employment (2) Earning profit
(3) Market standing (4) Innovation

ﬁw%f@aﬁam-mwmmmmaﬁ%?

(1) TR F g (2) WA e (3) ¥R & wRw  (4) TarER
Trade includes

(1) selling (2) buying

(3) manufacturing (4) buying and selling

39
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R | wfdfea @
(1) fashr Fw | @) s
(3} S0 o (4) @ T A

123. Which of the following is not a feature of sole proprietorship?

(1) Risk bearing (2) Agreement

(3) Unlimited liability (4) Full control

fraffee & A F-m uwa @i w1 @@ @ 'Y

(1) Sifaw a7 (2) e (3) ehfm qR (4 T FE
124. ‘Membership by birth’ is related to

(1) Sole Trader (2) Partnership

(3) Cooperative Undertaking (4) Joint Hindu Family Business

‘S A weaar g R

(1) whe = & (2) W &

(@) T I (4) w7 forg wRam =@ §

125 Non-transferability of share is a feature of

(1) Public Company - (2) Private Company
(3) Partnership (4) Holding Company

40
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126.

127.

128.

(171)

W f TEETRON Th TG R

(1) oS F (2) fsft =t &

(3) AR 4) ;gs:rrﬂ FA H

‘Equal Voting Rights’ is related to

(1) Cooperative Organisation (2) Public Corporation
(3) Private Company (4) Government Company
(1) Teht & @ (2) wewte fm &

(3) fsft et @ (4) SRl FA @

Which of the following is not a feature of a company?

(1) Mutual Agency (2) Common Seal

(3) Artificial Person (4) Perpetual Successjoy,

Refefen & @ #H-m w00 5 agw 78 29
(1) TREIRE A (2) W R
(3) Fhm =t (4) WNEA JERER
Which of the following is not a long-term source of businegs fin.
(1) ssue of shares (2)_Issue of debentyre,
(3) Trade credit (4) Findncig institution,
41
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Fefefan § @ FR-m sl fm o A @a @ e

(1) 39 @ ffaa (2) o ®
(3) =i HE@ (4) firfra wear
129. Which of the following is an unincorporated organisation?
(1) General Partnership (2) Limited Liability Partnership
(3) Public Limited Company (4) Private Limited Company
Affgn & @ $ o o <o ¥7
(1) HHR AR (2) W TR AT
(3) W Refirez Fet (4) WA fafies wwft

imited Liability Partnership were introduced by which Act of Parliament?
130. Limite

i 7
(1) Limited partnership Act, 190
) Limitﬁd Liability Pgrtncrship Act, 2000
v |
PaftnBTShi'p Act, 2000
(3) _odst, 2013

@ C°“‘“’/1,<1ﬂ, W ¥ fo o % E0 Tte ) e
Wﬂmﬁrﬁ affam, 1907
) ¥ o s s, 2000
Qe M, 2000
) F afufaad, 2013
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131.

132.

133.

(171)

The major advantage of a franchise is
(1) training and managerial assistance

(2) national recognition
(3) personal ownership
(4) All of the above

TATRR Y@ @™ R
(1) SR os - .
(3) fsht wiftr

(2) T A=
(4) SW® avft

‘Lack of incentive’ is a limitation of

(1) Sole Trading

(3) Company

o s’ v e
(1) e =R

(3) Fort i

‘Open membership’ is a merit of
(1) General Partnership

(3) Private Company

e v - R

(1) 99 VR A

(3) Felt ot

43

(2) Partnership

(4) Joint Hindu Family Business

(21 gt
- 4) W R R s

(2) Cooperative OrganiS'athH
(4) Public Company

(2) FER Hirom
(4) TS e #

P.T.0,



134, Whi >
. Which of the fo
following i
lowing is not a principal export d
rt document

1 :
(1) Certificate of origin
(3) Mate’s recei e
ipt

| (4) Certifi i

- } %?cru icate of inspection
(1) 3™ &l .
! TG (2) fo afi% afen

7w wfe (4) Tibeor =1 AR

135.
The term CIF is used in

(1) internal trade o
(3) wholesale trade ) external trade

HoamdoTho T W qa ® {4, el (e
(1) 3witER A i A

(3) sivep =T |
(4)1§anmwwﬁ

d the Union Bud
get 2016-17 on 29th
February, 20
, 2016 ?
(2) Amit Shah

136. Who presente

(1) Arun Jaitley

(3) Narendra Modi i
(4) Nitin Gadkari

617 W
(2) SR WE
@) A% T (4) Fid et

HTEMO\ & 29 HEh 0016 F HEA I fHAT7

44



137. Who is the Chairperson of NITI Aayog?

138.

139.

140,

(171)

(1) President of India (2) Finance Minister

(3) Prime Minister (4) Defence Minister

Hfa M = e W 27 |

(1) Tgufa (2) faer o (3) WeaFREh (4) T W

The ‘SwaehhBharat Abhiyan’ was launched by Prime Minister on which date?

(1) 26th January (2) 15th August
(3) 10th September (4) 2nd October |

(1) 26 FFad (2) 15 3T (3) 10 Rmmm  (4) 5 SR

Name the 29th State of India which came into existence in June, 2014
(1) Goa (2 “Tétangana

(3) Lakshadweep Island (4)... Mmﬂiuicob I
: ar slands

WA #2991 TE-A-T 2 ) A 2014 B SR W

(1) M (2) dIAT
(3) g (4) soewm oo g B
Who coined.the term ‘Green Revolution’ in India?
(1) Manmohan Singh (2) Dr. M. 8. Swasmingyy
3) Dr. Wiliam Gade - et
45
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141.

142.

(@) o fiftrm g o o o

Indif;S first All Women Bank, ‘Bharatiya Mahila Bank’ was opened in which
year

e Seen @, afen. i, hn wien §% f wmn fe o d gl

(1) 2012 (2) 2013 (3) 2014 (4) 2015

Which of the following will be simplified by the proposed Good's and Services
Tax (GST) ? '
(1) Direct tax

(3) Sales tax only

(2) Indirect tax

(4) Service tax only

(1) & F

s the full form of SEZ?

143. What . |
Spect gL Do (2) Smart Economic Zone
y \ gEctricity. Zone: (4) Smart Electronic Zone
) C
o) ;’;o Jg7) 0 e
N i & (2) o A g
0¥,
i fodh ot e

46



144,

1450

146.

an

Which of the following sectors is contributing maximum in GDP of India?

(1) Agricultiire Sector (2) Service Sector

(3) Manufacturing Sector (4) Mining Sector
fFefofen # & #-w &7 Wi % e R I § Afwm Ao w=wa k7
(1) Ff 83 (2) ¥ &3 (3) fmfor & (4) @ &1

When-was ‘Make in India’ launched in India?

(1) September 25, 2014 (2) September 25, 2015
(3) April 1, 2015 (4) January 10, 2016
TR # A W e’ B S g o

(1) frwar 25, 2014 (2) R 25, 2015

(3 ™ 1, 2015 (4) S 10, 2016

When was “Digital India’ launched in India?

(1) July 1,205, (2) March 1, 2075

(8) Jamuary 1, 2016 - (4) July 26, 2015

T # TR e’ frgm 5y 4 7

(1) 9§ 1, 2015 (2) W1, 2015

(3) wa@ 1, 2016 (41 TE. 26,0015
47
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147.

148.

149.

150.

Which country is not the member of BRICS ?
(1) Brazil (2) Russia (3) India

H-a1 3w ‘fora’ # wew T 27
(1) S (2) &9 (3) ¥
UNCTAD was established in the year

UNCTAD #! wm fre ad o #47?
(1) 1988 (2) 1964 (3) 1956

India’s largest exports are to

(1) USA (2) Japan (3) Russia

o F g afts fata e 3 & @ R7
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